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(Option 1 [9577]) 1
(Option 2 [9578]) 2
(Option 3 [9579]) 3

(Option 4 [9580]) 4
Answer Given by Candidate : 4

Sl. No.96
QBID:128096

- e J.Ldj_‘/j Lﬁﬁ'lcﬁcm L)_AJ_‘._‘IL_I1P1\S.J]

ﬂ_:;u.ﬂi\.”_c.l_léu_l%a_n_an 5_7..;SIJ%UHJL;*SJ}EHASQSJMUS}”@“._«M:\,&_La”
1.JLAU§J;C'1‘?A:<.¢L&_"% AC‘I'ihu.dmC'léfuq._ﬂ};d_éhir__ﬁwu_LuCldﬂ \f_u,_id.u.\
Ci.g_ll_uf_\1jsdj_1_ﬁ)o._u_\l_»\5y,s )SeS\_uoLu.JLiASLLnJEGCg_I/_ﬁ_u_n_im_Jj J_l_xm_u.JLJg_Ll
o) el A S ASLe LS S ) s Kda B slilay st ol 5oyl s S
Mape S S o Balle Al Gl S S ) plsa sl a8 eS8 55 0 55 S Usomder U
”-LJLAJS J1._-; udjd,n_a_.:llla ‘ )S.Lﬂll.@_vib... ﬁmfchﬁ..“uﬁ_c&j&

Y ol ae Cuand S S Sa e Gl Yo ) Sae

j il duu"_..a:.;k_éol_mjb
2. e e (S e
3. e Cend (S i

4. Upe Senn (S Sl

(Option 1 [9581]) 1

(Option 2 [9582]) 2

(Option 3 [9583]) 3

(Option 4 [9584]) 4
Answer Given by Candidate : 1

Sl. No.97
QBID:128097
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4. 05 Olare
(Option 1 [9585]) 1
(Option 2 [9586]) 2
(Option 3 [9587]) 3
(Option 4 [9588]) 4
Answer Given by Candidate : 1

Sl. No.98
QBID:128098
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(Option 1 [9589]) 1

(Option 2 [9590]) 2

(Option 3 [9591]) 3

(Option 4 [9592]) 4
Answer Given by Candidate : 3

Sl. No.99
QBID:128099
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(Option 1 [9593]) 1

(Option 2 [9594]) 2

(Option 3 [9595]) 3

(Option 4 [9596]) 4
Answer Given by Candidate : 4

Sl. No.100
QBID:128100
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(Option 1 [9597]) 1

(Option 2 [9598]) 2

(Option 3 [9599]) 3

(Option 4 [9600]) 4
Answer Given by Candidate : 4
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of| Proportion of Car Models Sold

W Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

g a1feienT & B8 TeRi A-F 1 O19fa BRI &1 I8 &1 (i) U (%) faR0 8l (i) 39 991 168 RI & o
ST P, Q 3R R T 3T ST | 571 W6 § 991 T8 DRI B et WA 90,000 © | TIAaDT 3
HFHS] B YR TR Y BT IR Ao |

e a1 T3 BRI B GaR (%) S TG HfSll T ST
P Q R
A |1430% 7 7 1
B |1620% 2 5 B
C  [1840% 3 3 4
D |16.80% 4 3 B
E  |1260% 2 2 1
F  [21.70% 3 2 5

What is the number of Model-Q cars sold in all cities together?

1. 31255
2.31355
31455

4. 31555
(Option 1 [13201]) 1
(Option 2 [13202]) 2
(Option 3 [13203]) 3
(Option 4 [13204]) 4

9l ERl & ol (eI 0isd Q $I &4l s SRI B H=I 1§ 2

31255
31355
. 31455
4. 31555
(Option 1 [13201]) 1
(Option 2 [13202]) 2
(Option 3 [13203]) 3
(Option 4 [13204]) 4
Answer Given by Candidate : 1

Sl. No.102
QBID:5201002
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of| Proportion of Car Models Sold

W Sold Cars P Q R

A 14.30% 7 7 4

B 16.20% 2 3 2

C 18.40% 3 3 4

D 16.80% 4 3 2

E 12.60% 2 2 1

F 21.70% 3 2 3

g a1feienT & B8 TeRi A-F 1 O19fa BRI &1 I8 &1 (i) U (%) faR0 8l (i) 39 991 168 RI & o
ST P, Q 3R R T 3T ST | 571 W6 § 991 T8 DRI B et WA 90,000 © | TIAaDT 3
HFHS] B YR TR Y BT IR Ao |

e a1 T3 BRI B GaR (%) S TG HfSll T ST
P Q R
A |1430% 7 7 1
B |1620% 2 5 B
C  [1840% 3 3 4
D |16.80% 4 3 B
E  |1260% 2 2 1
F  [21.70% 3 2 5

What is the difference between Model-P cars sold in city-D and city E ?

2184
. 2204
2294
2244

B O

(Option 1 [13205]) 1
(Option 2 [13206]) 2
(Option 3 [13207]) 3
(Option 4 [13208]) 4

eI D IR ISR E APl Alsdp PRI S dl ST SR 18 2

L2184
L2204
. 2294

4,2244
(Option 1 [13205]) 1
(Option 2 [13206]) 2
(Option 3 [13207]) 3
(Option 4 [13208]) 4
Answer Given by Candidate : 2

Sl. No.103
QBID:5201003
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of| Proportion of Car Models Sold
W Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

g a1feienT & B8 TeRi A-F 1 O19fa BRI &1 I8 &1 (i) U (%) faR0 8l (i) 39 991 168 RI & o
ST P, Q 3R R T 3T ST | 571 W6 § 991 T8 DRI B et WA 90,000 © | TIAaDT 3
HFHS] B YR TR Y BT IR Ao |

EERNEISNEAER G

e a1 T3 BRI B GaR (%) = i 5 =
A 14.30% 7 7 4
B 16.20% 2 5 2
& 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 5
The number of Model-P cars sold in City D is approximately % of the number of Model-R cars sold in
City A

1.145

2. 185

3,83

4. 235

(Option 1 [13209])
(Option 2 [13210])
(Option 3 [13211])
(Option 4 [13212])

e D ¥ fa! Hisd p &R & G@ TeR A T 5@ Oisd R FRI & T &1 @y foraa ufaed (%) 8 2

145
. 185
3.83
4,235
(Option 1 [13209]) 1
(Option 2 [13210]) 2
(Option 3 [13211]) 3
(Option 4 [13212]) 4
Answer Given by Candidate : 3

Sl. No.104
QBID:5201004
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of| Proportion of Car Models Sold
W Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

g a1feienT & B8 TeRi A-F 1 O19fa BRI &1 I8 &1 (i) U (%) faR0 8l (i) 39 991 168 RI & o
ST P, Q 3R R T 3T ST | 571 W6 § 991 T8 DRI B et WA 90,000 © | TIAaDT 3

HFrs] & AR TR UY B IR aloig |
&< T HiSal Bl UTd

e a1 T3 BRI B GaR (%) = i 5 =
A 14.30% T 7 4
B 16.20%% 2 5 2
& 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 5

Number of cars sold in City F is approximately

13
34
21
4.27.5
(Option 1 [13213]) 1
(Option 2 [13214]) 2
(Option 3 [13215]) 3
(Option 4 [13216]) 4

DA

% more than the number of cars sold in City B

e F 1 fa@! &I & S Uex B H 94 718 BRI & Y= § T fdvan afad (%) sii@ g 2

i
.34

321

4 275
(Option 1 [13213]) 1
(Option 2 [13214]) 2
(Option 3 [13215]) 3
(Option 4 [13216]) 4
Answer Given by Candidate : 4

Sl. No.105
QBID:5201005
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The following table shows (i) the percentage (%) distribution of number of Maruti Cars sold in six cities A-F
and (ii) the proportion of three models P, Q and R among those cars sold. Total number of Maruti Cars sold in
these cities is 90,000. Based on the data in the table, answer the question :

City-wise Distribution of Sold Cars

Citv 9% Distribution of| Proportion of Car Models Sold
W Sold Cars P Q R
A 14.30% 7 7 4
B 16.20% 2 3 2
C 18.40% 3 3 4
D 16.80% 4 3 2
E 12.60% 2 2 1
F 21.70% 3 2 3

g dTfereT H 8 Te=1 A-F J T SRI @1 9801 F1 () WIS (%) faa=on 3R (i) 37 941 718 $RI 5 diF
ST P, Q 3R R T 3T ST | 571 W6 § 991 T8 DRI B et WA 90,000 © | TIAaDT 3
3B & HYR TR YY B 3R glo |

e a1 T3 BRI B GaR (%) S TG HfSll T ST
P Q R
A |1430% 7 7 1
B |1620% 2 3 B
C  [1840% 3 3 4
D |16.80% 4 3 B
E  |1260% 2 2 1
F  [21.70% 3 2 5

What is the ratio of the number of cars sold in City C to the number of Model-Q cars sold in City D?

1.19:5

2.27:8

2R

.33:10

(Option 1 [13217]) 1
(Option 2 [13218]) 2
(Option 3 [13219]) 3
(Option 4 [13220]) 4

IeR ¢ H 91 T8 BRI @ 3] SR Y D AISd Q 31 [d@] $RI &1 9T & did &1 SIUd 1 § 2

155

278

L

4.33:10

(Option 1 [13217]) 1
(Option 2 [13218]) 2
(Option 3 [13219]) 3
(Option 4 [13220]) 4
Answer Given by Candidate : 3

Sl. No.106
QBID:5201006

Which of the following techniques is recommended for approaching and dizciplining a student who may be
prone to explosive behaviour?

da L

bd o=

L¥)

1. Move swiftly and get as close to the misbehaving student as possible.
2. Ensure that there are several witnesses to the confrontation.
3. Be respectful, brief but assertive.
4, Use a loud voice to establish power,
(Option 1 [13221])
(Option 2 [13222])
(Option 3 [13223])
(Option 4 [13224])

A W N =



%@ﬁgﬁﬁ%mﬁmﬁ%ﬂuaﬁﬁ&@m@amﬁ%ﬁﬁaﬁ%ﬁmmﬁm
Bl § 2

1. TPTE S SIgeR T3 a1 faeneif & gur §yg e g & |
2. 98 gl o3 b g1 g & 99y o il o |

3. YHFYdeP, H&Y U U] Teargdd ard ox |
4, Yfed wIfOd B & fog Sl 317aT T Ham & |

(Option 1 [13221]) 1
(Option 2 [13222]) 2
(Option 3 [13223]) 3
(Option 4 [13224]) 4
Answer Given by Candidate : 1

Sl. No.107
QBID:5201007

Ishita had been practicing her multiplication tables for weeks before her yearly test. She knew all her facts
completely. This type of knowledge that Ishita now has attained does not require attention and concentration.
This process is known as which one of the following ?

1. Flashbulb memory
2. Schema

3. Automaticity

. Procedural memory

=Y

(Option 1 [13225]) 1
(Option 2 [13226]) 2
(Option 3 [13227]) 3
(Option 4 [13228]) 4

SIRTar 3o AT URia & Ugel 5l I USTS! &1 1Y &3 <o ol | 98 9R a2l &1 G ave 9§ ol of
| SRraT 3 3 o519 UeR &1 3179 Ui {601 § 398 & 24 iR $fad ox- of 3owdal el sidl € 139
P AR R R AT e ot R AT I A 1 =

1. ®lY-ge8 HiA

2. Wi

3. TETIBR]

4. Ufcharae Fid
(Option 1 [13225]) 1
(Option 2 [13226]) 2
(Option 3 [13227]) 3
(Option 4 [13228]) 4

Answer Given by Candidate : 4

Sl. No.108
QBID:5201008

Match List I with List IT :

LIST I (MOOCs Four Quadrant LIST II (Component)
approach)
A |Quadrant - I I |e-content
B. |Quadrant - IT II.  |Self-assessment
C.  |Quadrant - ITT 1. |e-tutorial
D |Quadrant - IV IV.  |Web Resources

Choose the correct answer from the options given below :

. AL B-IV, C-I, D-II
. A-IV, B-1, C-III, D-II
. A-IL B-I, C-IV, D-II
. A-IV, B-TI, C-III, D-I
(Option 1 [13229]) 1
(Option 2 [13230]) 2
(Option 3 [13231]) 3
(Option 4 [13232]) 4

O



Tl 1 D1 gl 11 ¥ e Sifse

T 1 (43 $ 91X UTE ST T 11 (TCH)
A [oEn L [g-eiddas
B. [mEn I [ETeT
C. [og i 1. [3-SeiRgd
D. [{dEIV CERGIES
fafaRed [dwedl 4 1 T8 9us &1 999 Siuid -

1. A-IIL, B-IV, C-1, D-II
2. A-IV, B-1, C-III, D-II
3. AL B-1, C-IV, D-II
4. A-IV, B-II, C-III, D-I
(Option 1 [13229]) 1
(Option 2 [13230]) 2
(Option 3 [13231]) 3
(Option 4 [13232]) 4

Answer Given by Candidate : 1

Sl. No.109
QBID:5201009

Match List I with List IT

LIST I (Behavioural Models)

ILIST II (Developers / Redevelopers)

perfortance reinforcement)

A |Mastery learning 1] Carl Smith/Mary Smith

B. [Simulation o [Peueeni Bl
Black

C.  |Social learning II1. |B.F Skinner

D Programmed schedule (task v |Albert Bandura/'Carl

Thoresen/ Wes Becker

Choose the correct answer from the options given below;

1. AV, B-I, C-11, D-1II
2. AL, B-I, C-IV, D-III
3. A-IL B-IV, C-I, D-III
A-IV, B-I, C-II1, D-II
(Option 1 [13233]) 1
(Option 2 [13234]) 2
(Option 3 [13235]) 3
(Option 4 [13236]) 4

o

T 1 D1 gl 11 1 e Sifse
T 1 (TTERTES Alec) aiﬁu(ﬁa?mﬁrfgﬂﬁavmmf)
A [ydiorr effere T REYHL Ry
B. |3y L[S = S i
C.  |[gmre® ey Il [&f]. U, R
o [T PR ST @ [ [ TER@Te UREH A
B G R G AR B G
el fgpedl ¥ ¥ 981 3Tk &1 907 S -
1. AV, B-I, C-11, D-III

A-IL, B-I. C-IV, D-III
AL B-IV, C-I, D-III
A-IV, B-1, C-III, D-II
(Option 1 [13233]) 1
(Option 2 [13234]) 2
(Option 3 [13235]) 3
(Option 4 [13236]) 4

S v

Answer Given by Candidate : 2

SI. No.110
QBID:5201010




Given below are two statements :

Statement I : Sensory memory is that memory which helps an individual to recall something immediately
after having perceived it.

Statement II : Semantic memory is that memory which helps in storing as well as retrieving a collection of
relationships between events or association of ideas.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement I are incorrect.
3. Statement [ is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II 1s correct.
(Option 1 [13237]) 1
(Option 2 [13238]) 2
(Option 3 [13239]) 3
(Option 4 [13240]) 4

A g o B o i

Fu 1. 998 T g i ¢ o el @fe @ o O g & aomte 399 g RO aXa @ deran
TR & |

FOF 11 ¥F & T 9% T © o IRgeas 3ya T9 & S & a9 & 969 & 948 & HSROT g
g=:wifE & gerar & © |

I HUA & AT A AT By o fhedl F € §Ed SUIE AT O 994 it

1. sy 13 neEt gd §)

[ ]

e 1R neEt ea €
3.7y 19 & o @y 1 aed 51

4. 39 19ea &, afhd Y= 1ad ¥
(Option 1 [13237]) 1
(Option 2 [13238]) 2
(Option 3 [13239]) 3
(Option 4 [13240]) 4
Answer Given by Candidate : 1

Sl No.111
QBID:5201011

Given below are two statements :

Statement I : If we accept a hypothesis when 1t should be rejected, we say type I error has been made.
Statement IT : If we reject a hypothesis when it should be aceepted, we say type II error has been made.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement [ is true but Statement I is false.
4. Statement I is false but Statement II is true.

(Option 1 [13241]) 1

(Option 2 [13242]) 2

(Option 3 [13243]) 3

(Option 4 [13244]) 4



A g o B o i

#a - afe &7 ve It wrameuar o AR Fia © o0 3Edied har SEr @it ga w6 O A9 96g
t 5 sud asu I g & o §

B 113 58 T U UeeT=T B AR e § Sdih 58 THeR A SET @R, 9d 56 a% A
Faa © 6 O sy I gfe FT mi §

SR ®HYUA & el 3, fgr v fsmedl & O oed Sugd SOUHT =994 I
1. %9 1R ngE ae €
2. 399 13k 1=t smea #

3. Y 9T &, oifehel U= 1130 T I

4. U 1370T &, 9fhd Ha= T I
(Option 1 [13241]) 1
(Option 2 [13242]) 2
(Option 3 [13243]) 3
(Option 4 [13244]) 4
Answer Given by Candidate : 2

Sl. No.112
QBID:5201012

Which of the following softwares are used for checking plagiarism?

Turnitin
e-view
Scopus
Urkund
Quetext

mOnwpe

Choose the most appropriate answer from the options given below :

1.A. B and D only
2.B. Cand E only
3.A.Dand E only
.C.D and E only
(Option 1 [13245]) 1
(Option 2 [13246]) 2
(Option 3 [13247]) 3
(Option 4 [13248]) 4

Tifefds Ik &t oiE F33 & fou 49 2 -5 arream:! &1 yan féar snare 2

A THRET
B. 370

C. ¥BIug
D. TS
E. HheRe

= fau o foaetl ©f & 9as Sugad SR &1 99 DI

1.HIAA, B IRD
2. HFAB, C ARE
3. Had A, D IRE
4.%IAC, D IRE

(Option 1 [13245]) 1
(Option 2 [13246]) 2
(Option 3 [13247]) 3
(Option 4 [13248]) 4
Answer Given by Candidate : 3

Sl. No.113
QBID:5201013

=Y




Which of the following methods are used to measure reliability in research?

Chain-referral sampling
Test-retest

Split-half

Inter-rater

Judgemental test

MmO 0w

Choose the correct answer from the options given below :

1.A. Band Conly
2.A,.Dand Conly
3.B.Cand D only
.C.D and E only
(Option 1 [13249]) 1
(Option 2 [13250]) 2
(Option 3 [13251]) 3
(Option 4 [13252]) 4

Ty H fayeriiadl &1 5= & forg g F 3 oo fafial 1 wae i siran g 2

A, @ "alifa uloerA
B. WiG-G: 9F

c. fayaars

D. aHuRT EeRw)
E. Jed Fvia g

1 fau e faeedl 5 8 9l 3Tk &1 90 Sifeg:

1.$ad A, B, C
2.PadA. D, C
3.%ddB,C, D
4. $ddC, D, E
(Option 1 [13249]) 1
(Option 2 [13250]) 2
(Option 3 [13251]) 3

(Option 4 [13252]) 4
Answer Given by Candidate : 3

=Y

Sl. No.114
QBID:5201014

Given below are two statements :

Statement I : t-tests are appropriate only when the dependent variables being measured are continuous.
Statement IT : Chi-square statistic allows us to test hypotheses using both continuous and ordinal data.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement [ is true but Statement I is false.
4. Statement I is false but Statement II is true.

(Option 1 [13253]) 1

(Option 2 [13254]) 2

(Option 3 [13255]) 3

(Option 4 [13256]) 4



3 & Py Ry U &
HYAL : t-0% Had aull SUGE gid § o Jud AT 9= Jada ol |
?;%I 1 : BTy WHARR HIRIS] 61 ad 3R PUgED SHids! gH1 S W B Wb ed] B §id B
r
SIRI YA S rdle T, 193U 7Y f[aeedl § 3 9El IR 1 994 S
1. B 1 AR 11 &H S B
2. BUA 1 AR GHI A G

3. DY 1 I &, A YT 11 AFT &

4. BT AT &, AT YT I TI 2|
(Option 1 [13253]) 1
(Option 2 [13254]) 2
(Option 3 [13255]) 3
(Option 4 [13256]) 4
Answer Given by Candidate : 4

Sl No.115

QBID:5201015

Given below are two statements :

Statement I : UGC-CARE list includes all the scopus, web of science, and MLA indexed journals.
Statement IT ;: Open Access Journals are predatory journals.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4, Statement I is false but Statement II is true.

(Option 1 [13257]) 1
(Option 2 [13258]) 2
(Option 3 [13259]) 3
(Option 4 [13260]) 4

< Py Ry &
DY : TolI-HIUHRS, ot 1 2l W10, 99 1% Jied SR UHUaU gHieG o-d SMad sld § |
HUA11 : Gad HTH I d ge S-a gl g |
SR Y & 3fald H, i Ru T faeedl § 3 el SR 31 98- Sife:
1. HY AR GH T E |
2. DY HR I GHI A © |

3. BYT 1 I 8. A HUT 11 T 8

4, Y1 ST &, AT U 1 T B
(Option 1 [13257]) 1
(Option 2 [13258]) 2
(Option 3 [13259]) 3
(Option 4 [13260]) 4
Answer Given by Candidate : 3

SI. No.116
QBID:5201016

The people's preconceptions and frames of reference, and spreading one's own limited attitudes towards issues
and images result in:

1. Stable identity

2. Social harmony

3. Positive public opinion
4. Stereotypes



(Option 1 [13261]) 1
(Option 2 [13262]) 2
(Option 3 [13263]) 3
(Option 4 [13264]) 4

IR 1 qayRuTSH, Has] & arRi 3R el 3 Siagl & Ul 39 Su= i siftgiodl & wER o1
frafafaa § 9 ufomg garg 2

1. RRysaH
2. grEIfSS IeE
3, HERIHT 9THd
4. 3feagan (RIRglREE)
(Option 1 [13261]) 1
(Option 2 [13262]) 2
(Option 3 [13263]) 3
(Option 4 [13264]) 4
Answer Given by Candidate : 4

Sl. No.117
QBID:5201017

In mass communication the audience is:

1. Identifiable

2. Relatively small
. Heterogeneous
4. Homogeneous

LS

(Option 1 [13265]) 1
(Option 2 [13266]) 2
(Option 3 [13267]) 3
(Option 4 [13268]) 4

S IR | g Fetaa S S s el €2

. ERE
. SUETPHT HH GEATH
fawmedt
4, gl

(Option 1 [13265]) 1

(Option 2 [13266]) 2

(Option 3 [13267]) 3

(Option 4 [13268]) 4
Answer Given by Candidate : 3

Sl. No.118
QBID:5201018

The meanings of visual images depend much on:

L

Individual perception

Social perception

Political links

Economic benefits
Representational Connections.

mOnwe

Choose the correct answer from the options given below:

1. A. B and C only
2.B.Cand D only
3.C.Dand E only
A.B and E only
(Option 1 [13269]) 1
(Option 2 [13270]) 2
(Option 3 [13271]) 3
(Option 4 [13272]) 4

=



Ty figi & o FEH A T m e ke g o

A, Jafdad FY
B. TS d1Y
C. IEHa® dud (fdid)
D. 3if& wglaeny
E. WiiaHiEe Jay
=i feu TE famedl § ¥ Tel 31U &1 944 HIog:

1.PaTA.B.C

2.$dd B, C, D

3. %90 C,D,E

4. PAdA.B.E
(Option 1 [13269]) 1
(Option 2 [13270]) 2
(Option 3 [13271]) 3
(Option 4 [13272]) 4

Answer Given by Candidate : 4

SI. No.119
QBID:5201019

Given below are two statements :

Statement I : The right to communicate can prompt the emergence of negative liberty though its positive
impact cannot be overlooked.

Statement IT : The hidden impact of free market place has diluted the concept of free speech to suit the
corporate ends.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement [ is true but Statement I is false.
4, Statement I is false but Statement II is true.

(Option 1 [13273]) 1

(Option 2 [13274]) 2

(Option 3 [13275]) 3

(Option 4 [13276]) 4

FR sy e e:

PYUA 1 - TUY T HUPR FBRIES WaaAdl & 38 &1 URd T TFHal ¢ Tt STF THRIED GHE B
SeET el fhuT ST g § |

mgx:gaaww%mumﬁiﬁmaﬁﬁ 3[IEY 91 WA=A P ATURON BT TAD] R
faars |

IR YA & ATelD 4, =< 40 U [dpedl © T 9l 3wk &l 94+ Difoid:

1. U AR IS 9T &l

2. BYTI IR I SHI AT |
3. PYTI TS, Al PYUT I 3T | |
4. P I, AT PN TIE |

(Option 1 [13273]) 1
(Option 2 [13274]) 2
(Option 3 [13275]) 3
(Option 4 [13276]) 4

Answer Given by Candidate : 1

SI. No.120
QBID:5201020




Given below are two statements :

Statement I : The capacity of words need not have any connection with truth.

Statement IT ; There is a human tendency to conceal facts and suppress the truth while communicating.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but Statement IT is incorrect.
4, Statement I is incorrect but Statement II is correct.

(Option 1 [13277]) 1
(Option 2 [13278]) 2
(Option 3 [13279]) 3
(Option 4 [13280]) 4

14 3 FY= AU T §: TP MUSHYT (Assertion A) F =10 H fARad 8 T G¥RT 3T PRUI (Reason R) &
g

HUHYT A : Ioa] B &HA BT T P 1Y DTS Ja¢f SHT HI90F el ¢ |
PROTR : YO0 H G T2 1 5T SIR T B 581 A W ¢ |
SR Y & e H, i [3u T fasedl & 9 969 S9gad IR B 994 S |

LAIRREA T8I E AR R A DI e TSR |

. AR RN 61 €, AfFTR. AP TEl AR ST © |
ATgicdfTr eI TR R
ATEI TRl e afpTR TR B |

(Option 1 [13277]) 1
(Option 2 [13278]) 2
(Option 3 [13279]) 3
(Option 4 [13280]) 4
Answer Given by Candidate : 1

Sl No.121
QBID:5201021

Find out the third common term between the two given Arithmetic Progression (AP) series given as :

J N O

3,711, 15, and 1, 6, 11, 16,

(Option 1 [13281]) 1
(Option 2 [13282]) 2
(Option 3 [13283]) 3
(Option 4 [13284]) 4

ifea & =u 0 g &1 7t GHR 4ol (Udh) & Te AN g 9g & I Hifere
B 1T 08
3T

1.8, 11,06 000

J31
A3
3.51
4,47
(Option 1 [13281]) 1
(Option 2 [13282]) 2
(Option 3 [13283]) 3
(Option 4 [13284]) 4
Answer Given by Candidate : 1

SI. No.122
QBID:5201022

3=



A person can do a piece of work in 18 days. After working for 12 days, the person leaves and another person
joins and completes the remaining work in 8 days. In how many days this 2nd person can complete the whole

job?

20
24
22

4. 18
(Option 1 [13285]) 1
(Option 2 [13286]) 2
(Option 3 [13287]) 3
(Option 4 [13288]) 4

Us e U S 31 18 fort B o= gavd 8 | 12 f4H 09 &1l F37 & ugid a8 oofda &1 31 8IS e g
3R GERT ook D1 T HAT IR PR & 74T A9 1 $f 8 A TR dar ¢ | 98 gu offokd 59 W
mﬁmﬁﬁ:ﬁﬁwmw%?

20
24
22

4. 18
(Option 1 [13285]) 1
(Option 2 [13286]) 2
(Option 3 [13287]) 3
(Option 4 [13288]) 4
Answer Given by Candidate : 2

Sl. No.123
QBID:5201023

The average salary of 25 workers in an office is Rs. 6,000 per month. If the salary of the manager is added, the
average becomes Rs. 6.200. What is the annual salary of the manager?

Fa =

[F%)

L pd

1.73.200
2. 1,34,400
1,58,600

4. 1,03,200
(Option 1 [13289]) 1
(Option 2 [13290]) 2
(Option 3 [13291]) 3
(Option 4 [13292]) 4

ot Soraierg H ®ied 25 4iH@! @1 Sl da 6000 394 UGS © | e SHH Yeu® @1 4o Hi §iig
fear SaT € o U8 37d 6200 398 B 9T € | HE S &1 alfies aa- fhar g ?

L¥F)

1.73,200

2. 1,34.400

3.1.,58,600

1,03,200

(Option 1 [13289]) 1
(Option 2 [13290]) 2
(Option 3 [13291]) 3
(Option 4 [13292]) 4
Answer Given by Candidate : 1

SI. No.124
QBID:5201024

In what time a sum of money will double itself at the rate of 8% per annum simple interest?

e

1. 10.5 years
2.12.5 years
9.5 years

4. 11.5 years
(Option 1 [13293]) 1
(Option 2 [13294]) 2
(Option 3 [13295]) 3
(Option 4 [13296]) 4

L)



DS Y M 8% Yiday ATHRY &7 BI &< 4 fda- w9 J 71 gl wee 2

10599
12598
9589

411539

(Option 1 [13293]) 1
(Option 2 [13294]) 2
(Option 3 [13295]) 3

(Option 4 [13296]) 4
Answer Given by Candidate : 1

L

Sl. No.125
QBID:5201025

A shopkeeper sold two articles at Rs. 12,000 each. He sold one article at a profit of 20% and the other one at a
loss of 20%. What is the net gain or loss to the shop keeper?

. A loss of Rs. 1000
. A gain of Rs. 1000
. Aloss of Rs. 3,000
4, Aloss of Rs. 1,500
(Option 1 [13297]) 1
(Option 2 [13298]) 2
(Option 3 [13299]) 3
(Option 4 [13300]) 4

el gPMERA gl a¥gell § U YD DI 12,000 TT H &1 | 3HA U G¥ Pl 20% D WIH TR &1 Td a0
T P 20% DI B W 1 | gHMER DI Hd @Y F1 81 fda-1 6 2

. 1000 T &I BIH
. 1000 T T @TH
. 3000 TUT &I I
. 1500 $UT &I BIH

(Option 1 [13297]) 1
(Option 2 [13298]) 2
(Option 3 [13299]) 3
(Option 4 [13300]) 4
Answer Given by Candidate : 2

SI. No.126
QBID:5201026

Which informal fallacy is committed in the following argument - "Scientists have been trying for centuries to
disprove the claims of astrology, and none of them has ever succeeded. Therefore, we must conclude that
astrology's elaims are true” ?

L R

B

1. Slippery slope

2. Hasty Generalization

3. Aurgumentum ad Ignorantian (appeal to ignorance)

. False Cause

(Option 1 [13301]) 1

(Option 2 [13302]) 2

(Option 3 [13303]) 3

(Option 4 [13304]) 4

frafifad gfed 5 o a1 sHaIRe adb-a § - 9iedl 3 dufe oy & <@l o1 ©isd - &1 vad
mﬁg%‘% IR 3H I B13 ol Ht Tmd 781 ol 8 | o1a: 3 (e e gt fas sifaw & ad
qd T

e

1. T aagad gal (Rerasl i)
2. ffgart
3. IRRIFHAS iat (371 BT SE)
4. frgre R
(Option 1 [13301]) 1
(Option 2 [13302]) 2
(Option 3 [13303]) 3

(Option 4 [13304]) 4
Answer Given by Candidate : 3

Sl. No.127
QBID:5201027



Which of the following propositions can be directly inferred from the statement - "All mammals are four-
legzed animals?

1. All animals are four-legged mammals.
2. No four-legged mammals are animals.
. Some mammals are four-legged animals.
4. All four legged animals are mammals.

L¥F)

(Option 1 [13305]) 1
(Option 2 [13306]) 2
(Option 3 [13307]) 3
(Option 4 [13308]) 4

?Eﬁ@ﬁmﬁﬁﬁ@mﬁwm%wwa@ﬁﬂmmwéﬂlﬁwwﬁwW

g O O TR
1S 2t o TR ag e
TB WY S g E |
gt TR Y] R E

(Option 1 [13305]) 1
(Option 2 [13306]) 2
(Option 3 [13307]) 3
(Option 4 [13308]) 4
Answer Given by Candidate : 3

RO L R

Sl. No.128
QBID:5201028

Which of the following statements is contrapositive to the following statement - "Some dogs are not
aggressive animals"?

1. Some aggressive animals are not dogs.
2. Some dogs are aggressive animals.

. Some non-dogs are aggressive animals.

4, Some non-aggressive animals are not non-dogs.

L¥%)

(Option 1 [13309]) 1
(Option 2 [13310]) 2
(Option 3 [13311]) 3
(Option 4 [13312]) 4

e syl 1 9 &1F 91 Fuiiiad syF & UiouRalid 8 - 3 $d 3RS I 81 6 2

1. P SHHHD UL T T © |
2. T P STHHD UL |
3. P9 TR-Tdl SHHED I © |
4. 9 TR-3MTHHP U IR-FU 61 & |
(Option 1 [13309]) 1
(Option 2 [13310]) 2
(Option 3 [13311]) 3
(Option 4 [13312]) 4
Answer Given by Candidate : 2

SI. No.129
QBID:5201029

Which of the following statements are contradictory to each other?

A. All objects are perishable.

B. Some objects are not perishable.
C. Some objects are perishable.

D. No objects are perishable.

Choose the most appropriate answer from the options given below:

1. Aand D only
2.B and D only
.Cand D only
4, Aand C only
(Option 1 [13313]) 1
(Option 2 [13314]) 2
(Option 3 [13315]) 3
(Option 4 [13316]) 4

L¥%)



fFafaed § ¥ o1 ¥ oY R A E 2

ATl BRE |
B. O qRU TR TG ¢ |
C. TS G0 AWRE |
D. Ig H oG TR T |

14 3w e foged § € el Suged 5ol &1 99 & 19U

1.Had A IR D
2. %Had B IR D
3.%ad C ARD
4. HATA AR C

(Option 1 [13313]) 1
(Option 2 [13314]) 2
(Option 3 [13315]) 3
(Option 4 [13316]) 4
Answer Given by Candidate : 3

Sl. No.130
QBID:5201030

To find my way about in a village I ask a resident for guidance. Which of the following instruments of
knowledge iz used according to classical Indian school of Logic (Nyaya)

. Perception (Pratyaksa)

. Similarity (Upmana)

. Inference (Anumana)

4. Verbal Testimony (sabda)

(Option 1 [13317]) 1

(Option 2 [13318]) 2

(Option 3 [13319]) 3

(Option 4 [13320]) 4

TS A 1 397 g7 B qar & fau 89 anfesE o U IR 9 47 99T | e YR A 9d &
TR FEfiEd ¥ 9 99 & o8 w1 &1 gl e g 2

U
JUHA
STHME
4. Tecy
(Option 1 [13317]) 1
(Option 2 [13318]) 2
(Option 3 [13319]) 3
(Option 4 [13320]) 4
Answer Given by Candidate : 4

SI. No.131
QBID:5201031

Which of the following applications A-C are built on top of open-source digital platforms?

L R

L

A. Google Earth
B. DIKSHA
C. MySQL

Choose the correct answer from the options given below.

1. Aand B only
2. Aand C only
3.B and C only
4 A.BandC
(Option 1 [13321]) 1
(Option 2 [13322]) 2
(Option 3 [13323]) 3
(Option 4 [13324]) 4



mcgﬁﬁﬁ@ﬁaﬁ@amﬁ(&wﬁéﬂﬁ)ﬁ@ﬁqgmﬁa%ﬁEﬂW$ﬁwﬁﬁa
gIAE?

AT 31 (Google Earth)
B. QI&T (DIKSHA)
C. IS THTYUd (MySQL)

2 fau e el & 9 UEl SR %1 907 P

1. Had A IR B
2. FIAAARC
3. %aaB AR C
4. A B3RC
(Option 1 [13321]) 1
(Option 2 [13322]) 2
(Option 3 [13323]) 3

(Option 4 [13324]) 4
Answer Given by Candidate : 2

Sl. No.132
QBID:5201032

Which of the following statements (A-C) are correct with reference to Web 3.0?

A. Web 3.0 technology (theoretically) puts user data and web content into user's hands,

B. Centralization is a core tenet of Web 3.0

C. In Web 3.0 world, block-chain based networks, transactions and businesses will thrive in the coming
years.

Choose the correct answer from the options given below :

1. Aand B only
2. Aand C only
.Band C only
4 A.BandC
(Option 1 [13325]) 1
(Option 2 [13326]) 2
(Option 3 [13327]) 3
(Option 4 [13328]) 4

39 3.0 T A Fpffa swi Ao A aR I Tdi g2

A. 99 3.0 Yol (Ragiaa:) vdiead] S1e1 Ud a4 [augas] &1 Wiied & 3Uded SR ¢ |

B. 11901 44 3.0 BT J0 RiGid ¢ |

C. 9 3.0 ST SAFTHT 991 § &1 o UR SR edd § JoudsR iR Fadr wal-%ai |
=i fau e fomedl & 9 Hel SR @1 997 S

1. Had A IR B

2. FIAA AR C

3. 9aa B AR C

4 A B3RC
(Option 1 [13325]) 1
(Option 2 [13326]) 2
(Option 3 [13327]) 3
(Option 4 [13328]) 4

Answer Given by Candidate : 4

Sl. No.133
QBID:5201033

L¥¥)




Given below are two statements :

Statement I : The inventor of WWW is Bill Gates.

Statement IT ; IPv6 protocol defines an IP address of 128 bits.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4, Statement I is false but Statement II is true.

(Option 1 [13329]) 1
(Option 2 [13330]) 2
(Option 3 [13331]) 3
(Option 4 [13332]) 4

R Py Ry E:
DY 1 : 56 56 S (WWW) & SHIITHRS [ Ted § |
HUT 11 : 3MSUIdI6 (1Pve) Heimia 120 fae & gt Ugd & aRuIitd @xai g |
SWRITd Y & i 1, i &y 7Y fadedl § I 96l IR @1 99 Sifee:
1. B 1 AR 11 GH A §
2. DY HR I GHI S

3. BYT 1 9 &, A HUT 1 ITA 8

4, Y1 ST ¢, AT SUA 1 T B
(Option 1 [13329]) 1
(Option 2 [13330]) 2
(Option 3 [13331]) 3
(Option 4 [13332]) 4
Answer Given by Candidate : 2

Sl. No.134
QBID:5201034

Consider the following Fxcel spreadsheet :

A B & D E F
1 3 5 1 2
2 2 3 ) %
3 4 5 7 2

What 1s the value of the formula = SUMIF(B1:B3, "=" & 3. C1:C3)

-
—1 L L

8

(Option 1 [13333])
(Option 2 [13334])
(Option 3 [13335])
(Option 4 [13336])

& W N =



FafaRad v Segiic R [daR S :

e | N

= |y Ry e
53]
'-\-JL)ID—-\O

[N | SR | ) U

Ll || bt | =

A : =SUMIF(B1:B3, ">" & 3, C1:C3) WWW% ?

L R
o R SV

4.8
(Option 1 [13333]) 1
(Option 2 [13334]) 2
(Option 3 [13335]) 3

(Option 4 [13336]) 4
Answer Given by Candidate : 4

Sl No.135
QBID:5201035

Given below are two statements :

Statement I : SWAYAM is a platform developed by Ministry of Education and AICTE to bridge the digital
divide among students.

Statement IT : UGC is a National coordinator of SWAYAM for non-technical Post Graduation education to
ensure that best quality content is produced and delivered.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true,

(Option 1 [13337]) 1
(Option 2 [13338]) 2
(Option 3 [13339]) 3
(Option 4 [13340]) 4

TG sy Ry E:

FUYF 1 : TOH (SWAYAM) BHEI & 7er Fefoea sroamdl 1 @i &1 ureq & forg e damem sl
TR TR (SIHTARIT) GRT OHRId 1 WeBH |

HYA11 : Yol TR-AP1] AR Q& & 70 WaH (SWAYAM) &I g ¢ o gHiad
&1 T o Tatam orargef favaasg @ fafor 3R verett ot o | T

IR FYA & AT |, 1d [RU Y [dped] § U Uol 3= H1 99 Hiforg:
1. PYT1 AR 11 SHT T B
2. PYTT 3R 1T ST ST B

3. YT I TS, AT PYT 11 3T © |

[F¥)

4. T I L, AT FU I TIE |

(Option 1 [13337]) 1
(Option 2 [13338]) 2
(Option 3 [13339]) 3
(Option 4 [13340]) 4
Answer Given by Candidate : 1

SI. No.136
QBID:5201036



Asrange the following Farth's water compartments in increasing order of the amount of the water they hold.

A. Rivers and streams
B. Fresh lakes

C. Atmosphere

D. Ice and Snow

Choose the correct answer from the following options given below :

A, C.B,D
LA B, D
A BA T
4,A,B.D.C
(Option 1 [13341]) 1
(Option 2 [13342]) 2
(Option 3 [13343]) 3
(Option 4 [13344]) 4

gedl & Sel SUUS| Pl 3D T YR o HIET & ded $hH H FafRyd SifefU |

A, AfeTl 3R od-uRg
B. A1 5701 &1 St

C.
D.ggaﬁﬂ%rt
=l U U [doedl § 9 96l SR &1 994 BIiuE:

A C.B.D
A A HL T
.C.B.A.D
4.A,B.D.C
(Option 1 [13341]) 1
(Option 2 [13342]) 2
(Option 3 [13343]) 3
(Option 4 [13344]) 4
Answer Given by Candidate : 3

Sl. No.137
QBID:5201037

Given below are two statements :

b=

Lo

b=

[F5]

Statement : I Municipal solid waste includes Garbage and Rubbish.
Statement IT : Garbage consists of both combustible and non combustible materials.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3, Statement I is true but Statement II 1s false,
4, Statement I is false but Statement II is true.

(Option 1 [13345]) 1
(Option 2 [13346]) 2
(Option 3 [13347]) 3
(Option 4 [13348]) 4

9 & Hv Ry e &
BUA 1 : TRUIASD] & 314 HURIF T FS-PDHE (Tefe) HR B13-Hars RIaw) GHAAa ¢ |
FUT 11 : PSI-TRGC H sqa-=ie AR HSaeLid aiHl Al Sefed sidi g |
IWRIT HY & i H, =i fey 7Y fasedl § I 981 TR &1 907 BifeiE:
1L @A AR G A E |
BYTT AR I SH AT |

3. PYT I I E, AP HUT 11 AT |

(]

4. P 3ET S, AP P I TIE |



(Option 1 [13345]) 1
(Option 2 [13346]) 2
(Option 3 [13347]) 3
(Option 4 [13348]) 4
Answer Given by Candidate : 1

Sl. No.138
QBID:5201038

Given below are two statements :

Statement : I In many cases, both organisms and human infrastructure will not be able to move or adapt
quickly enough to changing climate.

Statement IT : Infectious discases are likely to increase as a result of global warming.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
. Statement I is true but Statement II is false,
. Statement T 1s false but Statement II is true.

e aa

(Option 1 [13349]) 1
(Option 2 [13350]) 2
(Option 3 [13351]) 3
(Option 4 [13352]) 4
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4. PYTI A ¢, AP FUT I TA B |
(Option 1 [13349]) 1
(Option 2 [13350]) 2
(Option 3 [13351]) 3
(Option 4 [13352]) 4
Answer Given by Candidate : 1

Sl. No.139
QBID:5201039

Major contributor to carbon monoxide emissions in metropolitan areas of India is/are:

1. Industrial Sector
2. Domestic Soutces
3. Transport Sector
4. Agriculture Sector
(Option 1 [13353]) 1
(Option 2 [13354]) 2
(Option 3 [13355]) 3
(Option 4 [13356]) 4
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(Option 1 [13353]) 1

(Option 2 [13354]) 2

(Option 3 [13355]) 3

(Option 4 [13356]) 4
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Answer Given by Candidate : 3

Sl. No.140
QBID:5201040

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Although internal-combustion engines used in today's vehicles can be adapted to burn hydrogen,
hydrogen powered combustion engines probably are not the future of hydrogen fuelled vehicles.

Reason R : It is more efficient to convert hydrogen energy directly to electricity using fuel cells.
In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A,
3. A s true but R is false,
4. A iz false but R is true.
(Option 1 [13357]) 1
(Option 2 [13358]) 2
(Option 3 [13359]) 3
(Option 4 [13360]) 4
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4. AT AGIRTAR |
(Option 1 [13357]) 1
(Option 2 [13358]) 2
(Option 3 [13359]) 3

(Option 4 [13360]) 4
Answer Given by Candidate : 4
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While planning for higher education development in India in the twenty first century, the guiding principles
should be :

L

. Access

. Empathy

. Equity

. Accountability
. Quality

sl e B Wws it =

Choose the correct answer from the options given below :

1. A. B and E only
2,B.C.Dand E only
.A.C,Dand E only
4.B. C, and D only
(Option 1 [13361]) 1
(Option 2 [13362]) 2
(Option 3 [13363]) 3
(Option 4 [13364]) 4
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3. %A, C, D 3IRE
4.HAAB, C AR D

(Option 1 [13361]) 1
(Option 2 [13362]) 2
(Option 3 [13363]) 3
(Option 4 [13364]) 4
Answer Given by Candidate : 3

Sl. No.142
QBID:5201042

Which of the following ancient systems is focussed on laws of matter and force and of combination and
disintegration?

1. Vaisesika
2. Nirukta

. Chhanda

4, Grihya Sutras

(Option 1 [13365]) 1
(Option 2 [13366]) 2
(Option 3 [13367]) 3
(Option 4 [13368]) 4

frafafad § @ o1 Oy vefa uer ok a0 qu TuoH vd oo & Fosi mafga g2

1. AT
2. Fea
3.9%
4.7
(Option 1 [13365]) 1
(Option 2 [13366]) 2
(Option 3 [13367]) 3
(Option 4 [13368]) 4
Answer Given by Candidate : 4

Sl. No.143
QBID:5201043

According to NEP 2020, what percentage of learners of schools and higher education system shall have
exposure to vocational education by 2025,

L¥¥)

. 40% of learners
. 50% of learners
. 35% learners
. 30% learners

L e R

EEN

(Option 1 [13369]) 1
(Option 2 [13370]) 2
(Option 3 [13371]) 3
(Option 4 [13372]) 4

TART 2020 & HHR, pal R 3 & Ui & siftrmeaisi &1 fea=T giawrd ay 2025 06
AIGHID &1 F HT Eh 2

1. AfErTHS Al BT 40%
2. Hfermmare &1 50%
3. fferTEarst &1 35%
4, TS Arst BT 30%
(Option 1 [13369]) 1
(Option 2 [13370]) 2
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(Option 3 [13371]) 3
(Option 4 [13372]) 4
Answer Given by Candidate : 2

Sl. No.144
QBID:5201044
o

Which of the following are the characteristics of non-conventional learning 7

A. No fixed curriculum

B. Teacher-centred learning
C. Cost-effective

D. Require regular attendance

Choose the correct answer from the options given below:

1. Aand D only
2. Aand C only
.B and C only
4. B and D only

(Option 1 [13373]) 1
(Option 2 [13374]) 2
(Option 3 [13375]) 3
(Option 4 [13376]) 4
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(Option 1 [13373]) 1
(Option 2 [13374]) 2
(Option 3 [13375]) 3
(Option 4 [13376]) 4
Answer Given by Candidate : 3

Sl. No.145
QBID:5201045

The Sanskrit-Sahitya parishat whose aim and objectives are to disseminate Sanskrit learning and research in
different branches of indological studies and to store and maintain the ancient Indian cultural and glories of
India was established in the year:

1. 1906
2.1916
3, 1964

4.1961
(Option 1 [13377]) 1
(Option 2 [13378]) 2
(Option 3 [13379]) 3
(Option 4 [13380]) 4

e d-Hled-uReeg e Sexa Itd e &1 TR SR YR fagn gas sreage o fafie smarsi
¥ SHYE a1 W YR SSe iR YRd & 11Rd &1 497 auT S0 o1, 3961 2470 g a9

gs dl?

. 1906
1916
. 1964

4. 1961
(Option 1 [13377]) 1
(Option 2 [13378]) 2
(Option 3 [13379]) 3
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(Option 4 [13380]) 4
Answer Given by Candidate : 2

Sl. No.146
QBID:5201046
Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that thes“e formulations cuide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the onIine tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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What has been done to describe the role of online tutors?

1. Add value to their guidance

2. Provide them with a warning system

Clarify their duties in fields other than education
By adoption of certain metaphors

L

(Option 1 [13381])
(Option 2 [13382])
(Option 3 [13383])
(Option 4 [13384])
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(Option 1 [13381]) 1
(Option 2 [13382]) 2
(Option 3 [13383]) 3
(Option 4 [13384]) 4
Answer Given by Candidate : 3
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Read the following passage and answer the question :

What is it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning, This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity. what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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What will inhibit student's contribution to tutorial discussions?

1. Toe much contribution of the tutor
2. Disruption during tutorials
Internal divisions

4. Qutside intervention

L

(Option 1 [13385]) 1
(Option 2 [13386]) 2
(Option 3 [13387]) 3
(Option 4 [13388]) 4
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(Option 1 [13385]) 1
(Option 2 [13386]) 2
(Option 3 [13387]) 3

(Option 4 [13388]) 4
Answer Given by Candidate : 1
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Read the following passage and answer the question :

What is it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning, This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity. what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The rhetoric of moderators has the intention to :

1. Displace teachers from teaching

2. Liberate students for their own learning
Strengthen the authority of teachers

4, Avoid critical pedagogy

L5

(Option 1 [13389]) 1
(Option 2 [13390]) 2
(Option 3 [13391]) 3
(Option 4 [13392]) 4
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(Option 1 [13389]) 1
(Option 2 [13390]) 2
(Option 3 [13391]) 3
(Option 4 [13392]) 4
Answer Given by Candidate : 2
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Read the following passage and answer the question :

What is it that tutors do. or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning, This has the ring of critical
pedagogy about it, which would seck to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that these formulations guide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the online tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity. what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The discourse of participatory learning may result in:

1. Abandonment of the online tutorial system
2. Vigorous student protestation

Emergence of dos and don'ts guidelines
Supervisory role of students

da L

(Option 1 [13393]) 1
(Option 2 [13394]) 2
(Option 3 [13395]) 3
(Option 4 [13396]) 4
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(Option 1 [13393]) 1

(Option 2 [13394]) 2

(Option 3 [13395]) 3

(Option 4 [13396]) 4

Answer Given by Candidate : 4
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Read the following passage and answer the question :

What is it that tutors do, or should do, in support of the online learner ? Some have sought to explore and
clarify by the adoption of particular metaphors, such as moderator, mentor, or facilitator, to describe the tutor's
role. These terms have their value in guiding our behaviour as online tutors, but their force is primarily to warn
us to stand aside. The evidence is that too much or inappropriate, contribution to tutorial discussion by the
tutor can inhibit contributions by the students. The rhetoric of facilitator and moderator speaks of a duty to
liberate the students, and empower them to participate in their own learning. This has the ring of critical
pedagogy about it, which would seek to remove the authority of the teacher, casting teacher and learner as
equal participants in the educational endeavour. Such protestations of equality will ultimately show themselves
to being disingenuous, however, when the imperative of assessment rears its ugly head. Worse, though is the
fact that thes“e formulations cuide us about what we shouldn't do, but remain rather silent about what we
should be doing. If the onIine tutor is going to move from centre stage and sacrifice some ideas of his or her
sagacity, what sorts of roles might be taken up to contribute to the guidance of the online learner ? There are
paradoxes here.
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The passage is an analysis of:

1. The traditional educational system
2. The new assessment methodology
3. Indian vocational education
4, Paradoxes of online tutoring.
(Option 1 [13397]) 1
(Option 2 [13398]) 2
(Option 3 [13399]) 3
(Option 4 [13400]) 4
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(Option 1 [13397]) 1
(Option 2 [13398]) 2
(Option 3 [13399]) 3
(Option 4 [13400]) 4
Answer Given by Candidate : 4



